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Question: 1 
   
Which of the following are complementary angles? 
 
A. 71° and 19° 
B. 18° and 18° 
C. 90° and 90° 
D. 90° and 45° 
E. 15° and 30° 
 

Answer: A     
 
Explanation: 
Complementary angles are two angles that add to 90°. 

Question: 2 
   
A man decided to buy new furniture from Futuristic Furniture for $2600. Futuristic Furniture gave the 
man two choices: pay the entire amount in one payment with cash, or pay $1000 as a down payment 
and $120 per month for two full years in the financial plan. If the man chooses the financial plan, how 
much more would he pay? 
 
A. $1480 more 
B. $1280 more 
C. $1600 more 
D. $2480 more 
E. $3720 more 
 

Answer: B     
 
Explanation: 
Multiply $120 by 24 months (a full two years) to get $2880. Add the thousand dollars for the down 
payment to get $3880. Find the difference between the entire amount all at once ($2600) and the 
amount paid in the plan ($3880). To find the difference, you subtract. The difference shows that $1280 
more is paid with the installment plan. 

Question: 3 
   
If 35% of a paycheck was deducted for taxes and 4% for insurance, what is the total percentage taken 
out of the paycheck? 
 

Visit us at: https://www.certswarrior.com/exam/ssat-upper-level



A. 20% 
B. 31% 
C. 39%  
D. 42% 
E. 48% 
 

Answer: C     
 
Explanation: 
To solve, find the sum. 35% + 4% = 39% 

Question: 4 
   
As used in this passage, the word "parasite" means 
 
A. a person who lives in Paris 
B. an organism that live on or in another organism  
C. microscopic insects 
D. a person who takes advantage of the generosity of others 
 

Answer: B     
 
Explanation: 
As used in this passage, the word "parasite" means an organism that lives on or in another organism, 
Choice B. Choice A and C are obviously wrong, since the passage mentions nothing of Paris or insects. 
Choice D is another definition for "parasite," but does not fit the context of the word used in this 
passage. 

Question: 5 
   
According to the passage, adult Roundworms can live in 
 
A. the arthropod vector 
B. fecal matter 
C. the subcutaneous tissue of humans 
D. contaminated water 
 

Answer: C     
 
Explanation: 
According to the description of Roundworms, they can live in the subcutaneous tissue of humans, 
Choice C. Choices A, B, and D describe where protozoa live and how they are transmitted. 

Question: 6 
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You can infer from this passage that 
 
A. larval stages of parasites are more dangerous than the adult forms 
B. mosquitoes do not transmit parasites 
C. worms cannot infect humans 
D. clean sanitary conditions will keep you free of protozoa  
 

Answer: D     
 
Explanation: 
According to the first paragraph, protozoa are transmitted through food and water contaminated by 
fecal matter. It can then be inferred that clean sanitary conditions will prevent the spread of protozoa, 
Choice D. Choice A is an incorrect inference because the passage discusses both larval and adult forms 
of parasites that infect humans. Choice B is an incorrect inference, since the first paragraph states that 
protozoa are transmitted by mosquitoes. Choice C is an incorrect inference because the second 
paragraph is about worms that infect humans. 

Question: 7 
   
According to the passage, which of the following is true? 
1. Protozoa live in the blood or tissue of humans. II. Adult helminthes cannot reproduce in humans. 
III. Adult thorny-headed worms live in the intestinal tract. 
 
A. I only 
B. Il only 
C. I and II only 
D. I, II, and III 
 

Answer: D     
 
Explanation: 
To answer this question, you will need to verify all three statements in the passage. All three of these 
statements are true and are supported by the passage. 

Question: 8 
   
The author wrote this passage to 
 
A. tell about the Declaration of Independence 
B. encourage the reader to watch movies about America's independence 
C. give the reader the history of an American holiday  
D. explain why America's independence from Britain is taken for granted 
 

Answer: C     
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Explanation: 
This passage was written to give the reader the history of the American holiday, the Fourth of July, 
Choice C. With regard to Choice A, the Declaration of Independence is mentioned in the passage, but 
the main purpose of the passage does not focus on it. The same is true for Choice B. The passage does 
talk about movies associated with the Fourth of July, but the main purpose of the passage is not to 
encourage the reader to watch those movies. In Choice D, the passage does mention that independence 
from Britain is taken for granted, but the passage does not explain why. 

Question: 9 
   
This passage is primarily about 
 
A. the most important nonreligious holiday in America 
B. how the Fourth of July did not become a tradition until after the War of 1812 
C. how Americans will always protect their independence 
D. how the Fourth of July no longer makes people think about independence from Britain 
 

Answer: A     
 
Explanation: 
This passage is primarily about the most popular American holiday, the Fourth of July, Choice A. The 
passage does relate to some extent to the other choices, but these do not reflect the main idea of the 
passage. 

Question: 10 
   
According to the passage, when did Americans first begin celebrating the Fourth of July? 
 
A. Immediately after signing the Declaration of Independence 
B. After the War of 1812 
C. In the 1870s 
D. Two hundred years after the Declaration of Independence was signed 
 

Answer: B     
 
Explanation: 
This detailed question offers four time periods mentioned in the passage as possible answer choices. 
Use caution when choosing the answer. Look back at the passage. The end of paragraph one offers the 
correct choice, Choice B. 
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